Solutions for Class 7 Maths Chapter 11 9Tdi® 3R °1d
Ex 11.1

Y 1.
fgfafad & 9F 1d Pifve ;
(i) 2°

Bdl:
26=2x2x2%x2x2x%x2
= 64

(ii) 93
Bd:
93=9x9x9=729

(iii) 112
Bd:
112=11x 11 = 121

(iv) 5
Bd:
54=5x5x5x5=625

Uy 2.

fFafefad & grdierd U § Jad Hifo
(i)6x6%x6x6

Bd:

6x6x6x6=064

(i)t x t
Bd:
txt=1t2

(ilbxbxbxb
Bd:
bxbxbxb=064

(iV)5x5x7x7x7
Bd:
5x5x7x7x7=52x73



(v)2x2xaxa
Bd:

2><2><a><a=22va

(vijaxaxaxcxcxcxcxd
Bd:
axaxaxcxcxcxcxd
=adxctxd

Na|
w

£l
fafoiad Temel & 9 Td® & 9died Ydhad H odad Hivg :
(i) 512

a

512
256
128
64

1

Lad
b

e i
m‘

wB12=2%x2%x2%x2x2%x2%x2x2x%x2

2343=7x7x7=73

(i) 729
Bdl:



729

243
81

27
9
3
1

2729=3x3x3x3x3x3=36

(iv) 3125

o
]
L

-J
L

LN |thl..n|'.}| ﬁ
[
—
b3
L

-d
h

L]
]

~3125=5x5x5x5x5=55

Y 4.
fofifed 7 9 ude 1§, 98T Y T4 §), 931 I & ufgenu
(i) 43 31 3*

Bd:

43=4x4x4=64

3R 34=3x3x3x3=81

Wyd: 81 > 64

3(d: 34 IS 3|

(i) 53 1 3°

Bd:

53=5x5x5=125

3R 35=3x3x3x3x3=243
TWYd: 243 > 125
3d: 35 IST 3|

(iii) 28 T1 82
Bd:
28=2x2x2x2x2x2x%x2x%x2



=256 3R 82 =8 x 8 = 64
YYd: 256 > 64
31 28 FST B

(iv) 100 T 2100
Bl

1002 = 100 x 100 = 10000

@q 2100 = (210)10
=(2x2x2%x2x2x2x%x2x2x2x2)10
= (1024)'°

=[(1024)%°

=(1024 x 1024)°

= (1048576)°

WYd: (1048576)° > 10000

31a: 2100 F&T %|

(v) 210771 102

Bd:
210=2x2x2%x2%x2x2x2x2x2x2=1024
3R 102=10 x 10 = 100

TE: 1024 > 100 3T 2'° TIT 5|

UH 5.

FHfeRad & @ Ude 1 I 3HTY UHEUS! Bl Uldl & UHB b U H e Doy
ki)648

Bel

2048 =2%x2%x2%x3x3x3x%x3
=23 x 3%

(ii) 405

Bd:



=
Ayl

~405=3x3x3x3x5=3%x5

~540=2%x2x3x3%x3x5
=22x33x5

(iv) 3600
Bd:

=9
L
=

~3600=2x2%x2x2%x3x3x5x%x5
=24x32x52

U4 6.
WW:

(i)2 x 103

Bdl:

2 x 103 =2 x 1000 = 2000



(ii) 72 x 22

Bdl:

72 x 22 = (7 x 2)% = (14)?
=14 x 14 =196

(ii)23 x5

Bd
22x5=2%x2x%x2x5
8 x5 =40

(iv) 3 x 44

Bl
3x4x4x4x4
=3 x 256 = 768

(v) 0 x 102
Bdl:
0x10%2=0

(vi) 52 x 33

Bd:
52x33=5x5x3x3x3
=25 x 27 = 675

(vii) 24 x 32

Bd:
24x32=2x2x2x2x3x%x3
=16 x 9 =144

(vii) 32 x 10*

Bl
32x10*=3x3x10% 10 x 10 x 10
=9 x 10000 = 90000

U4 7.

?Rﬁﬂﬁﬁﬁ:

(i) (-4)°

(ii) (-3) x (-2)°

(iii) (- 3) x (- 9)

(iv) (-2) x (- 10)°

Bl

() (- 4)° = (- 4) x (- 4)- (- 4)
=-64 3R



(ii) (-3) ¥ (- 2)° = (-3) - (- 2) ¥ (-2) x (-2) = (-3) x (- 8)
=24

(iii) (-3)% x (- 5)* = (-3 x - 5) = (15)°
=15 x 15 = 225 IR

(iv) (- 2)° x (- 10)* = (-2 x — 10)° = (20)°
=20 x 20 x 20
= 8000

Y 8.

fraferiRad Tensfl & e Sifo -
(i)2.7 x 10"2, 1.5 x 108

(i) 4 x 10'4; 3 x 1017

Bd:

(i)2.7 x 102 =27 x 10 x 10"
=27 x 10", 13 3 B

3R 1.5 x 108 =1.5 x 10 x 107
=15 x 107, 9 3{% g

WYd: 2.7 x 102> 1.5 x 108

(i) 4 x 1014, 15 3id B
3R 3 x 107, 18 3 BN
~4x10M <3 x10"7



